= a
M = 0O & AF & & A A
20108 = 204 LES|H =ESREAAUCIAIRL ~ EES2IKREAACIAIR LD
2N =ES2SIKFEAHZCAIRA
MM DoAY (25D /S5H)
ol AaNE B CERL
_ _ MG
SA R OO(5]) - NEAY - BAS 0 &k ot SR HD=2
TEZSIREBUZCIAIRAS 1,047,541 1,438,802 A 391,261
°c 50,000
Al 997,541
SeMAMAL| (2L 2 /23H) 877,166 1,248,749 A371,583
c 50,000
Al 827,166
AN 22 408,946 445,041 A 36,095
c 50,000
Al 358,946
H A2 44 145 40,640 3,505
201 LEr29Y| 44 145 40,640 3,505
01 AP 2t2ld] 13,945 0 13,945
Osima BEE 2
20,0002 * 4014 = 12& 960
OMYIIIE2E 22 (100L)
1,400 * 100 * 365 5,110
Oxs2sema AN SE 7o
20,0008 = 10 ~ 12&€ 2,400
OZEsHA RN 7Y
500 = 3004 * 365 5,475
02 2222 H| 30,200 40,640 A~ 10,440
OLEANE HAZH| 25,200
_ue(Es)
1,450 « 1202 = 8A|2F = 150 20,880
_egag(ER)
1,200& * 1202 = 3o « 10L 4,320
OJEFEH AES T (&I, , 201 2|, &
22, IED| E) 5,000
— A=A 1,000,000& * 53| 5,000
S3Es 22 202,605 129,805 72,800
101 @lAH| 23,520 23,450 70
04 JIZtMZ22ANsSE s 23,520 23,450 70
OaSME =8 ZHI| ool
35,000 * 5% x 10 x 23| 3,500
OL=N&, HdHIE, AZH MOXHE 2 M=
orgel 35,000& * 8% x 10 *x 23| 5,600
Oa4ME 2o 2 REIA BAFY o
gfal 35,0008 = 1 * 112& 3,920
OALME B A2=HH| o=
35,0008 « 28 x 20 x 13 1,400
OAXME =B 0pE AITH ol
35,000 * 3% x 102 = 23| 2,100
OSaT $52 98 HASA U o BT
H ol 35,0008 = 10 = 20 = 13| 7,000
201 LEt2AH| 77,200 46,000 31,200




FA: =EEFFEIZEUARL
. SMAAL (2L 2AZ/25H)
&SRl AxNE 22 e
S E O (EH) - MBAIY - B s e 2t
AR 2l 71,200 46,000 25,200
Oz=E=RsrAEd g8 #38 MH
200& * 100,0000H 20,000
OxERAREA EES(LHs X)) M
1,100& * 20,0005 22,000
OLME AREXN A=
15,000,000 * 14 15,000
Ox2232=A SHOX 22
350,000& * 12& 4,200
O3 AL EX 50& = 200,0000H 10,000
23224l 6,000 0 6,000
O44ME @4HRINE AAS2Y 248
500,000& * 12& 6,000
HE =& 3,000 3,000 0
ANHBZ=ZHSFEY| 3,000 3,000 0
OSSR HAHLYR =& 3,000,000 * 14! 3,000
M=l 22,355 7,355 15,000
M 28I 22,355 7,355 15,000
OHI, JIH 288 #¢ 1,000,000& * 23| 2,000
OUPSEE X 2 (12V/7AH) 30,000& * 1674 480
Ostx= 7¢ 300& = 10,000 3,000
ONA ==22| Hlg, s% 1,875
—Hlz 9,000& » 1251 1,125
—=9, M=H 30,000& » 5& * 53] 750
OLM& HdHIE U ATHE 237
5,000& » 3,000& 15,000
QIZto1 ™ 5,000 5,000 0
Rl s 5,000 5,000 0
Oty Ssus HAEX
5,000,000 = 14 5,000
X HHSOoIA 16,930 0 16,930
JIEIRE= 16,930 0 16,930
O} MESIIZ B2
507,886,000 = 1/ 3 = 10% 16,930
AN &HI 2SO 50,000 45,000 5,000
INE=1:1 50,000 44,676 5,324
OxE288EY 42 88 9 22
10,000,000& * 14 10,000
OLM3 =& ES A 40,000,0003 = 14] 40,000
Aot SH| 4,600 0 4,600
e =S FSHI 4,600 0 4,600
O44ME 2EE SOX 72
300,000& = 2CH 600




B> M0 M
4> £ qlop
2 40 [
o Jz o
i 40
(A

e
o

N B .S (3 H) - MIBEAY - BHA2 A} OH &EIE Hn=2
- T - = oS = =5 0:”/&,% Lsa
O2%NE HBB H0H X0 7
500,000& * 2CH 1,000
O4+HE 8 82 79
1,000,000& * 3 3,000
SdHl 2t 29 2l 62,196 174,596 A 112,400
201 LEt23| 20,196 10,596 9,600
02 23224l 20,196 10,596 9,600
(OFal—2PN}=] 4,596
—&HIZ3E2 (s 109 0Idt)
2,4343 * 1,888m 4,596
Odbl2at=8d ®I| HIZBA =5
1,000,000& = 13 1,000
O4tblzst-H3 OFMSIHI 2ot MIIRSB
800,000& * 12& 9,600
Odbl2ste&d JIEtEHIAIE SXIHI(&ED], D]
H,2ZAISH0 2, S &l S),000,0008 * 53 5,000
307 QI2tol™ 10,000 70,000 A 60,000
02 QI2ZtBAE X 10,000 70,000 A 60,000
O=stil= MEX 50,000& * 2009 10,000
401 AIEHIZ 2O 32,000 94,000 A62,000
01 Al&HI 32,000 94,000 A62,000
Oddl et HIIANE A X
2,000,000& = 14 2,000
OdtlZst+H&A B AXl
10,000,000& * 14 10,000
Odtlzst= & SAE E=
2,000,000& = 102 20,000
AR EX 2 (Z) 100,000 100,000 0
& 50,000
Al 50,000
307 2I2t0l ™ 100,000 50,000 50,000
= 50,000
Al 50,000
02 QIZtAAMEX 100,000 50,000 50,000
OMMstayXl S 25t 2t 2 &S5t 100,000
— R EME
100,000& * 259 * 403l 100,000
& 50,000
Al 50,000
E 29 468,220 803,708 A 335,488
Myl E 22 29 468,220 803,708 A 335,488
201 LBt 17,424 17,424 0
02 22234l 17,424 17,424 0
OdE S|l 6,424




PN =E2FFEHIBCIAIRA
MM 2FQHAAL| (2 LU2AZ/23HTH)
SR HHIE 29 (&te @2
i} _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH Omncm Hns2
—&HIE(2X 108 0I3t)
2,434%1 * 2,639 6,424
OMHlIE ®I| HIIFA =22
1,000,0008 * 13 1,000
OH&HIZE JIEtEBIAIE SXIHI (XD, I1H, 2 Al
Jtoliet, S8 &l ) 2,000,000 * 53] 10,000
307 QIZto|A 200,796 304,844 104,048
02 SIHAAER 31,500 90,000 58,500
OYE (LY, F4) SE3H Y ULHEHA
5,000,000 * 23] 10,000
OHMHIE SLAIZ=R 500,000 * 73 3,500
OHHIZE AHHIE =R 4,000,000 * 23 8,000
O18tD MY BEESS(UR])
10,000,0002 * 13 10,000
05 It ES 169,296 214,844 45,548
OKHlE U&E2 2202 Ny
507,886,0002 * 1/ 3 169,296
401 Al&HI LY 240,000 481,440 A241,440
01 Al&H] 239,784 479,784 240,000
OHHIZE ZIIXE 22 L HHZ A 200,000
— Al A& A 200,000,000& * 4.43 / 100 8,860
— AI&Hl  200,000,0002 * 14l = 95.57 /100 191, 140
OHHIZE ARBAAE B2
2,000,000 * 10&| * 0.9892 19,784
OsdlE &1 A 2,000,000 = 54 10,000
ONMHIE CHEZ2 ®IIAE HES
10,000,000 * 14l 10,000
03 Al&=0HYI 216 1,656 A1,440
OHHIZE ARBAAE B2
2,000,000& * 103 = 1.08 / 100 216
402 BIZHRH=0| A 10,000 0 10,000
01 Q2 R=28=x 10,000 0 10,000
OsHlE JI2 = ME &3
10,000,0008 * 14l 10,000
HELSAHH (=SS HHZCIALSA)(DIEHIIE) 170,375 190,053 A 19,678
Qlad 2] 87,199 90,041 A2,842
ol 29| 87,199 90,041 A2,842
101 Q14 82,039 85, 141 A3,102
01 B2 60,073 62,957 A2,884
OAlzZte2e4a
7,457 « 36AI2H * 8 x 122 25,772
OBAZAN ZU22SE 34,301
— A2t LE  7,4572 * 3AI2H * 3652 8,166
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SN SESHREABSIMDRL
HH: HHRIAAH (=ERIRHHZIARL)(IIEHIIE)
& QI 2A| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
— 0224 19,8883 * 1H « 3656 7,260
-2 56,1753 » 3% » 112& 18,875
03 RIIHAZZ XN E = 21,966 22,184 A218
Oxs=A& 223 21,966
—Jl=2 38,000 * 1H = 253 9,614
—a0= 4,750% * 209Al2t » 400% = 19H 3,971
— =&
4,750 * 200A12t * 75% * 23] « 1H 1,490
—E=E 720
- BH <&+ 40,0003 » 1€ » 128 480
JlEf 20,000& * 199 » 12& 240
—2&0ba A 50008 24 * 1% * 122 120
— Aol R R Ay
7,125% « 15A12F » 1 » 123 1,283
— =54 38,0004 * 19 » 52=F 1,976
—Resgdsd 38,000 » 1H = 123 456
— XRS5t  38,000& * 1%H » 16Y 608
—= gl 100,000& = 1" « 12& 1,200
— WSl 44,0003 » 1€ » 128 528
203 AR 3,360 3,100 260
02 HAIALREAY| 360 400 A40
OERRNAVNRL N
40,000& * 94 360
04 FN2ILRFAHI 3,000 2,700 300
OLESHRHABIANDL SHSIASEE
a] 250,000& = 122 3,000
204 XA 1,800 1,800 0
01 Mg HPHA| 1,800 1,800 0
Oz=S=2rdA e IMNRAE
150,000& = 1" = 128 1,800
Jl23| 83,176 100,012 216,836
JI=&Hl 83,176 100,012 N 16,836
201 Yereg| 50,956 64,212 £ 13,256
01 AtE22/Hl 10,264 25,000 214,736
OSAEX 7L 13,000& * 9 * 12& 1,404
OEZ20HAHI 5,0008 = 64! « 8H » 128 2,880
Oggt=g 100,000& = 123 1,200
OLAZREMN 2 50,000& = 12& 600
Oxnl2 =&t 4,380
—S Al el (A ) 500,000& = 1CH 500
— X2l =2t
100,000& = 2CH = 50 / 100 100
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SN SESHREABSIMDRL
HH: HHRIAAH (=ERIRHHZIARL)(IIEHIIE)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—SAMI EH 200,000& * 1CH = 53| 1,000
—ZeH Eu 200,000& = 2CH * 53l 2,000
—PC==cl | 100,000& = 9CH * 20 / 100 180
—JIEt &Hl ==2lbl 50,000& = 12& 600
OJIEtAR ESHI 5,000& » 99 * 12& 540
=Za ¥ 72 L ME
100,000& = 2% * 23l 400
Oulat= 2 11,404,000& * -10/100 21,140
02 =234l 40,692 39,212 1,480
Oz==Atl 3,192
—SSUSA(EZ 10E0/4)
2,500& = 714m 1,785
—DEA(SZE 25E0I &) 3,000& 469’ 1,407
OHNse3a 200,000& = 12& 2,400
OIIQB(a=ME) 1,500,000& * 12& 18,000
O4ot==R3 900,000& = 123 10,800
OBz 35,000& ~ 12& 420
OFstx dEA 250,000& * 40 & 1,000
OZNERES 1,000,000& * 22| 2,000
Oas=ME EAIAH
120,000 * 2 + 12& 2,880
202 O4Hl 32,220 35,800 A3,580
01 =LA bl 32,220 35,800 23,580
Oz=ERsRHD RFAAHYI 32,220
— 2ol 20,0004 * 12& * 9% * 12& 25,920
— 22/l 70,0003 » 10 = 9& 6,300




